Year 1

We have been looking at how to measure and compare weight this week. Have a go at the following activities.
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Lightest to Heaviest

Cut out and order the following items from lightest to heaviest.
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Save the Superhero Weighing Activity

Help save the superheroes by circling the heavier one on each set of scales.
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2. a) Look at the balance scale.

Measurement
End-of-Strand Assessment

Name: Date:

1. a) Compare and order these caterpillars
from the longest to the shortest.

A A\
B A\
C A\
D O
longest shortest

I I e I e

b) How many caterpillars are shorter than

caterpillar A7

How many caterpillars are longer than

i ? .
caterpillar D7 caterpillars
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What is the mass of the apples?
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b) What is the mass of one apple?

3. Look at the balance scales and complete
the sentence.

The I:I is lighter than the I:I
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